PART C —'(3 x 10 = 30 marks)

Answer any THREE questions.

20. m.non.w the followin ‘information calculate Mean,
Median and Mode : : ,

Income: 100-200  200-300  300-400 400-500° moo.moo_

No.of 2

7 X 96 * 1 >
Workers: . 0 6

Getreu (s uriiseffimis — syrsf, Qe fleney

LODID W&H seTsd@s :

QUHLTETID: 100-200 Noo-woo woo-Acc 400-500 - 500-600
Camawun_safar 9 g 7 | gt
TanaNsma: = Y g 5
21.

Explain the concepts related to Eowmwzﬁw. i
%m%&m@@qmgzg.mi_qu@FE E(BESI(hSsman 6flemés;s.

22. Elucidate the different types of gﬁoﬁrommm..

smzICanarsaien LOGan wmssaar afaun.

23. Write a notes on Hio-émw >ZO<>. s
. Grem® el siGarmeur L 2 GOUY euamys.

24.  Prove that Fisher’s Index is an Ideal Index.

Qagfler GHSE om; &Au  GHSEH TenugmaT

.@.@@.
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3. Define ‘Standard Deviation’.

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

1.  What do you mean by variance?
wrpetey upp Belli @b Qurmer wirg) ?

9. Find Mode -

X : 650, 600, 630, 650, 600, 620, 650
Wws0 snems :

. X:650, 600, 630, 650, 600, 620, 650

-

‘Bl eflessd’ — uenqup..

4. What wm meant by .Huwo,cmvzp.ﬁ%w

.%m%uaoﬂ_ ﬂ&@:& CTEUTET ?

5. How can you define normal distribution?
srgment udliee Beli ereuauny ai@TUMILIST?

6.. Comprehend the term hypothesis.

m@@,@m:a.: aeb ugsdamean L.



10.

HP-

12.

13.

14.

What do you mean by Type — II Error?

@reminb aws Genyp upd Felit HEHL Aun@en
W) ?

Comprehend the term ‘Degrees of Freedom'.

spbHrsHen ey e ussHmar auETLNES.

What is meant by standard error?

Perags Qenyp eretmmmed eretren 2

How can you define small sample?

aPw wrdMew Beliir ereueumy cuampumiiSi?

Define ‘Index Numbers',

GHELALaraedr’ — auenywi).

Write a note on ‘Fisher’s Index'.

Qsagdler @HUSE LupH G GHuy s,
PART B — (6 x b = 26 marks)

Answer any I'IVE questions.

Explain the different types of Kurtosis.
sleLwaremeilar ubGaup umasmar ellardEs.

Estimate standard deviation for the data given
below :

s
—
o
(=1}

7 9 11
F: 4 6 5 5 8 2

o

63102/AE21B

15.

16.

17.

18.

19.

ECp Qasr@aésuul@eatar sraysEnsE HlLwssbd
wAulEs :

X: 1 3 5 7 9 11

F: 4 6 65 5 8 2
Analyse the properties of normal distribution.
sngnren udtellér uaTys@al LEGEsTL Qaws.
Discuss the properties of Poisson Distribution.

umosrer udltefler uanysmer efleund).

Analyse the steps involved in testing of
Hypothesis.

s@aCaraar ufGenfluufd P%s. uyflenvaenars _
usssmie Qaus.

Describe the properties of ‘t’ distribution.

‘t' - udlrellen udnysener ehleufl.

Elucidate the problems in the noamSéaSo: of
Index Numbers.

GASLALansdr slLawuudd edar Hjwriseamer
eflaudl.

3 63102/AE21B



'How pnce and output 1s detelmmed undel.;:

monopohstlc competltlon'? L

o '_.@mgjlﬂmmu (Burri_mruﬂlm) @S]ma) lDﬁ')QJl'ﬁ &Duﬁﬁ

' _'_srajrsurrgj ‘é';rrasmrrsnﬂasesuu@aﬂm@? AR

24

Descnbe the ma1g1nal ploductlvaty Lhooxy of
'_.dlstnbutlon .

L “@@J'@‘r_ﬂmw Qmmug,pﬂﬁmm C‘Sasrrs__urn_ml__ @S]mfﬂ

3 T:Lme Three houxs o Mammum 7o marks

PART A e (10 X 2 20 malks)

. _';:Answel any TEN questlons each in 30 Words o

e 1 _ '_Dlstmgulsh between szed Cost and Val 1ab1e Cost

C __LDrrg)JLD LD;DQJLD wrrmrr& Q&wm @Gu@]u@g.gjas

" 2, What do you mean Total 1evenue" S

G%mng,g eu@amu.l GYGIFTLJ:;J L.Ig’)[_ﬁ] ‘I%@EI]IT u@iﬂ‘ﬂmgj u,mg;?

“3. What is Malgmal Cost?. -

f' @Qz,@;ﬂma} Q&su&; rsranug,j u_m'@j?

4 What is Cartel'f‘ o

o a;mma'm_@ r;ramugj u_JrrgJ? '

S '-.'5_.' : _What is meant by legal monopoly" IR |

e (g)m@]rﬂsmm Gmmug,aﬂ QLJFI‘@G‘ET u,.nrrgj?

e State the meanmg by }?rlce dlscnmmatlon'?

; 6&_@6\) _Gx_._lg,t_o ergmpg;m @urr@amﬂas s,

7. "'De_f_i_ﬁe'.‘dump'ing’.i.'_ |
B




_Pomt out: the types of_monopoly

'EWhat do you mean by” L11111g cost‘? R Rt

'mﬁimumsﬁr Qg@um umgﬁl ﬁi@ﬂrr tg;mﬂeum u,mg;J-

. ."_":'-._rﬂasasrrrr@t_ﬂ@ﬂsﬁr ' eurn;ras (Saafrl....umwem,.. g u@gpg)ﬂmm
' ':""-"G]Eu_la; Nt o SR

Answe1 .an : IZTHREE% : _uestlons each m 500 "

: '-_Summal 1ze the va 1ous ypes of costs '

G}&waﬁ]m LIGUGG)JQJ eusmasa;emerr @gn@g,g,jaa amg,uas |

._I]Xplam the':short Tun: and long run’ equlhbrm
ithe firmn’ unde1 pe1fect competltlon s

:c'ompetltlon -

:ﬁ,]am,rpm @unu@uﬁm _._:ar'_' ITJfﬂ @J@@JH‘UJ." o
:_:@Q@pﬂemeu @J@@Jrru_s @a;rrL_Lq,m gemammmw &I

o "':ﬁsm‘r_r)mu Gurrl_mru_fﬂm @gueﬂu.l a;rrsu mmguui

“__ZZQQJ@JGM &mﬁm@mm aﬂeﬂaa@a; B

: _f:Descnbe the features __fpelfect compcmuon SR 22 ffDlSCU.SS the featmes and types Of m0n0poly

. :_-'_-.ﬁglammmu @um‘m“umm @U‘mwmm Gﬁ]mm _@gjg;}rﬂmmuﬁ]m @UJG‘}H*%G*T LDBJQ,IJLD Guemsaseom @ﬂsuﬁ@ i
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Time : Three hours

14.

15.

16.

17.

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

What do you mean by correlation?
eLOwey upd Felt smHb Qurmer wig) ?
Define ‘Positive correlation’.
‘Cpiioenp GUEDSY - cuerugy.
State the properties of correlation.
QLODle LR SMETS FaQS.

How can you define causation?

srpemelwugeng Bellt erucumrm cuengwgIST?
What is meant by co-efficient determination?
Qs grfmnaﬂ{sgsb CTEMMHTEd GTetTen ?

" Define ‘Regression’.

‘o Ler Qgmiy’ - cuengwim.

Estimate Rank correlation.
x: 1264791083 5
y: 245368 9 7110
srauflas gL Bpay LHALIES.
x: 12 6479 10 83 5
y: 2 453 68 9 71 10

Differentiate ‘Regression’ from ‘Causation’.

o Léh Qgr_ienu,

' srpeellws A (mbal
Capupsss.

From the following data find regression equation
xony.

¥=36,5=850, =11; c,=8,r=0.66

Genaumb greyselldmps e Ler Qgmfyé swarun(

xony &neus.

\

¥=36;7=850,=11;0,=8;r=0.66
Describe the. properties of Multiple Linear
Regression.

vogpmar Gpllud erdar Qsruimler udTys@ar
caufl. :

3 63105/AE22B

Maximum : 75 marks

10.

11

12.

13.

18.

19.

State the meaning of regression equation.

oL Qzmfiyé swdLm iy dr QUTHET sa 6.

What do you mean by MLR?
MLR updl feflir s> Qummer wrg?

What do you mean by moving average?

-+ pa@mb syrafl upB Bellt HHb Qummer wrg ?

State the meaning of Time series.

arwg Qprii awflasldnr Qurmer sams.

Define ‘Least Square’.

‘Bs8p euirssd’ - cueTw.

How can you define data?

sreysener Bell ereucumgy cuenqwimiSi?
PART B — (6 x 56 =25 marks)
Answer any FIVE questions.

Describe the different types of correlation.

@Lppeler UwCauy uamssaar efleul,

2 63105/AE22B

Explain the components of Time Series.

arewg Agriireuflensuer o U sapsmer allanéEs.

Calculate four yearly moving average from the

data given below:

. Year: 2011 2012 2013 2014 2015

Profit: 464 480 505 500 490

Year: 2016 2017 2018 2019 2020

Profit: 515 530 540 520 550
&Cp Qan@ssu@earar  greysalla(mbs BN,
@0 pamb sTrefl saTEdBs.

<em@® : 2011 2012 2013 2014 2015

Qruw @ 464 480 505 500 490

<e® : 2016 2017 2018 2019 2020

@mub @ p15 530 540 520 550

4 63105/AE22B
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PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Estimate correlation coefficient for the following
data.

x: 18 26 28 31 26 19 35

o1 16 19 17 14 11 24

‘ Qeraumid SIUSEES QLAD Qaap wd VG,

X1 18 26 28 31 26 19 86

oIl 16 19 17 14 124

In what ways regression is differ from correlation?
PLOpimiy erer Qanity apQaps ePasald
wrELERDE ?

Write a note on regression line and regression

equations.

cLe@smiiy  Gsr@  wppd  cleér  Qgmiiy
sodur@ad upd @@ GHUY TWss.

5 " 63105/AE22B

23, TFrom the following information calculate trend
values,
Year: 2008 2009 2010 2011 2012 2013 2014 2015 2016

E“H“Oyn\onla; 32 33 37 39 36 43 48 48 54

Qetaupd — eNugriseledmpg Gurée  whHuyse
LA

Qpedt@ : 2008 2009 2010 2011 2012 2013 2014 2015 2016

Gauenen
aumiiy: 32 33 37 39 36 43 48 48 54

24, For the data given below, calculate the regression
equatiorts x on y and y on x and interpret it.

x: 60 66 67 67 68 69 71 173
y: 67 68 64 68 72 70 69 170
£CGyp Qan@ssvulQeer groysense Grean s en

Qgrufs swearur@adr x on vy wHmb y on x
e oipemen eflens s

x: 66 66 67 67 68 69 71 173
y: 67 68 64 68 72 70 69 170

6 . 63105/AE22B



e -_21,""5_}"Exam1ne the val 10us causes f01 mdustl 1a1 dlsputes' .

in India; -

5 ._-'~:_'._:.@p§u_|rra‘jleu @(Q}%’t’lﬁ@@@]m@ ,<5<$Urrg1ws&3rrsﬁr Uw@@gﬁ.':.'...
';asrwmrwa;mm g";bi]rru_ias L L ‘ '

‘32_2,‘1_ . Analyzo the reasons “for. ev131s in’ the Ind1a s'..

L ._':baiance of payments p031tmn St

-Dlscuss ﬂi

w :Development Bank of Indla (IDBI)

'-.-@'m‘ef,\tu @g.rrgﬁ]a) " eueniss) GUI'&I&QUQGT&T (IDBI)____ -

: _ ~___u6mfr1_|assmm umﬁ eﬁ]surrﬁ,\asas :

T

j'prlam the txends in. the expendmue of the___ T

., -central gover nment of Indla

Gﬁ@ff&;@a;

- __._'Tnne Tlnee hours

functmns of the Induqtualf-_ e

5_;_: State the types of fm elgn tlade

PART A'm— (10 x 2 20 ma1ks)

S s R S TEN t h 30 d e
__ @pé\umaﬁ}m é\mmﬁ)m—@ @g@!'&@ pﬂmmuﬁ]gjmm_ : Answe1 any ques mns eac in w01 s

L '._-._-_:ﬁasasguasasnm aarrrycmmwssmm u@uumusq Qsmas ‘ 1. :__ :'_.Infer the meamng of the te1m ‘Industrlal pohcy

o 2 .Llst any two obJectlves ofIndustnai pohcy, 1991 S
L :_1991 b e Glgrnr@@o @asrrmeﬁ}&sufﬂem @@g,@]m SR

@mm@ Gpn&&m&mm ua.mlx;.u.mﬂ@a:

. T ST g :.3-':-'.Wl1o is an agncultulal w01ke1'7
'-:._"'::_@mgm mg;ré.]m cgnyeﬂmﬂ Q&sueqa;etﬂsm @urrss@a;emm' SR :

- "G@errmr @gsn@sumﬂ Gre'muemr u_lrrrr?

" Mentmn any two featm s of mdust1 1a1 WOlkel

o ar-@qummm @gﬁlu@gmm

-.".""_'.'What]qmf’mmr—ﬂ emnnmy? e

- @mm&nqﬂ Gun@mngmyw smﬁg)rrm GTGDTGGT? '

: :-::@IU_IGU prn,,_@ wnmﬂugﬁ;\m Guswsasemrr @ﬁlu&@a; SRR R
7. ':'3 What is the meanmg of fm elgn dn ect 1nvestment'?_

L I e T T co;{u_lsu‘r_r)m_@ G'Slr_wu} @QGS@ Gmfrug,em @urr@@rr Gremn’r?z

Max1mum ’?o malks B

'_‘Qgﬁ@m@mm @aaxrsmnas GTG{TU}J @wreoeﬁ]sm QLJ!’;’@GE}GTT.__'::": e
i -:'_a,«aw‘ﬂasasmm : : : R G

-,G]g;rr%@a) gﬂmm Qg;rr;@mmﬂuﬁ]em e;r('ég,@m @gm@
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A.u..Bm : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

1. What is Econometrics?
? Qummenngy Sjereneuufuic) eTampmed ereme ?
2. Differentiate between mathematical economics

and econometrics.
4 Qumrmermgmy Sjemeneuudlwicd WMHMOLD saflgLl
CQumrpermsmrn - CaunpuBsss.
2 What do you mean by a priori criteria?

snyew srflw sereyCamed erammmed ereme ?

4. State any two scope of econometrics.
~  Qummerngmy 9jeren 6w udlwiedl et Crbmé 8 i & 61T
eTan U CwIgnILD @\ T&TIq ENETE S mis.

5. Mention the statistical properties of the least
square estimators.
< 868y eids  wHUCULgseaflar  yemeflufwie
QueLsmeTs Fnmis.
6. Define ‘Hypothesis’.
&HSICaHTET cuaTWIm).

10.

11

13.

14.

What is confidence interval?

bGsems @en_Qeued eremmmed ereme ?

Define multiple linear regression.

Gema Crllwed Qsriy Gurse - euayum.
What is R2?
R? erempmed eremen? :
Define standard error.
AL Qeny euenywim.
What do you mean by compound growth rate?
Gal_ () euari&Fsl 6igLD GTEMMTE GTEITET ?
What is a dummy variable?
Gumell i erempmed eTETET ?

PART B — (5 x 5 =25 marks)

Answer any FIVE questions.

Explain the role of econometrics in research.
Spisd Qummerrary Sereneuufwdian LkIE UHD
clend Es.

Differentiate between econometrics and statistics.

QummernaTy Sareeuuiue wHmIb yerafluiwe -
Coupu(sg1s.

2 63108/AE24B



T

k,

tate and prove Gauss-Markov theorem.
p-1omiGasT GariurlamLé s Hep9ésa,w.

: a jven the %B»E_ function D, =g, + B P, + B, P,

~ where D,- Demand, p, -Price of x, p, -Price of

~ substitute consider the economic relationship of
the above function.
.Uunho+§_ﬁw+hnmw. aarp Cgeeud ewemumige
D, - Gsoen p, -x-a v, p, - uHeSigeir
Aweows pduma Qesrhssuul Beaearg. CuCeo
o grer  edaugrisemers Gerer®  wHUSL 1 &@ERsEs,
@eL Guwrer QurmeTsTys Gsmiloar aflarsEs.

_ Write a note on coefficient of determination.
Gamaisaflen Siworend upd A GOUY euamrs.
. What are assumptions of multiple linear
regression mode.
Ea@oa. Cplued Qgmiy Cursdlenr aHCameTser
wrene ?
What are the features of dummy variable models?
Gumed 5&9 wrdfuler @uidbyseT wWreme ?

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Describe the methodology of an econometric
research with suitable example.

GQuITGETTSTy SieTmeUULe U6 WPODES@ET SEHS
e gransgiL e odleré (s .

3 63108/AE24B

B&Hm) uirEs Ebr:m_lj.mmm«m:
QuieLsmer cumed. . ,

The following table given data on imoE%, fa:
consumption expenditure (y) and weekly fa

income (x). ;
PR i e SR & e S /o v.\
-~ y:70 65 90 95 110115120140 155150

x :80 Hoo 120140 160 180200 220240260

(a) Estimate  the .ooschvaob funct:

¥y=Po+ Lix+ul

(b) Test the significance of the parameters

percent level.
(¢) Find R2
Glerau(md L L cuenemTudled @@&Em%mﬂ i)
nsteys Gevay (y) wHpd GELLSHET eum
auprab (¥) pdume Qsr@éstil Herang).

y:70 65 90 95 110115120140 155150
x :80100120140160180200220240260



¥ =8.58+3.64(Pp), + 0.004(P;),_, —2.56U,

| SE@©8 (0072 (066 n=12

B , W-wages ga— salaries, Pr-Prices of final
eﬂﬂwﬁn Nnmwgu oomw d :bmubﬁ_ovﬂwobaumem

~ (a) Interpret the results

(b) Are the coefficients are statistically
ignificant? (too2s=2.23).

Qéreu(mid Fad) Piramdsse srmloead Gsrem

W, =8.58+3.64(Pz), +0.004(Py),_, —2.56U,

-1

SE(©8  (0.072) (0.66) n=12

63108/AE24B




22,

23.

24.

Discuss the Keynesian nr.mo@. of employment.
sanallen Gouewer eumiitiyg Camlumligemer efaurd.

Examine  Keynes' psychological law  of
consumption. _ ‘ ,
Senallen 2 eneflwe maiey edfeows yymis.
Differentiate between MEC and MEI.
MEC wpmib MEI Capu@sss.

4 63111/AE25A/

- AB25A

e — -
3 e e itk o i

- e

e
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Time : Three hours ' Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer E.é TEN questions each in 30 words.
Define “Macro mnoboa.ﬁwom,.

“GuAlwe Qumr@ aTTgmyb” euamgumy.

What do you mean by national income?
Geélw euporatd upd Belt sifleuar wrg ?
Define ‘Net National Product’.

‘Flar Cadlw 2 pusd’ - mwngB_.

Define the term ‘Social Accounting’.

.m@ﬁ:ﬁw sanssH - Qossamd F[Hs.

" Define the concept of Full Employment.

w1 Cauaner flenew ereitm m@w%@g ueTwm).
mwmow@ the .Bmma.sm of percapita income.
SO Qu(HLONEND ererugen QuTH@aTS S([HS.
What is meant by effective demand?

2 méls Coaneu erepmed ereiran?



10.
11.

12.-

13.

14.

Define ‘Consumption m,rn.oaos..
‘mstey sminy’ cuen W

_mgﬁm the aggregate supply function.
Qurss wiefuys smiy 9@&8&% oG,
Define ‘Marginal propensity to consume’.
Qpi Hee maitey priLd - euenwgy.
What is induced investment?
gramLLQubp apseSH eTeDTed erebren ?

What do %oc mean by marginal mm.::ms@ of
capital?

Bpd How eSO Spar uphl S sifcar
E:@:

PART B — (5 x 56 = 25 marks)

Answer any FIVE questions each in 200 words.

- Discuss the nature of macro economics.

Cufwe ch@mﬁ:.aaq&.%a.ﬂ. 039586 %Eq&._

‘Explain the m_hmos:umm in noEvcﬁbm national
income.

' GsAlu BTl SETEELRD o drer fésdsman

efleré 5. . ,
2 | 63111/AE25A/

’
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AB25A

15.

16.

17.
18.

19.

" 20.

Describe the say’s law of market,
Ceuflenr Bytismy eferws eflauf.

List out the determinates of consumption function.
m&Tey - &miepu m_.qs:%m@s sryenflaamaryy
Ul gwdBH&.

Discuss the concept of wage rigidity.
Fncll @mssd erep LS eNeurd.

What are the determinants of investment?
apgdllenL Srwraflsgh aryaflad wreneu?

Distinguish between induced msm mcnonoBocm
investment.

ISTOBL  psd®  whHpd  gerallims
g SHwuaupeanp Caupupsss.

PESE
PART C — (3 x 10 = 30 marks) -
Answer any THREE questions each in 500 words.

Differentiate between micro and macro economics.

- pwenfluL Qc:@%E& whmpb Cuilwéd Qummeaiiwd

2L

gHweapenp CaunuBsgs.

Explain the methods of measuring national
income. :

CaAlw cumaumis Siarell( aperpsmar ellaéEs.

3 63111/AE25A/
_ AB25A
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Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

1.  Define Identify Matrix’.
<SG el - auaqum.

What do you mean by Singular Matrix?
@nem sientl areTpey ereten ?

o

3.  State any two properties of Inverse of a Matrix.
aéliioenm
@reTy ens sams.

1 23
4. IfA=|2 3 1|find|4]. |
3 21 :

™

1]
W o
D w o

3
1| erafled ,A,-muJés SIS,
1

5. Define ‘Symmetric Matrix’.
&F&EST yanfl - euenTwIm.

\

sefler  uaysar  aTaneuGuigid

T

7. Ify:i,then d_y:?
: v dx

6. What is partial differentiation?
LGS awmsSLHé Qs ereprd eTamen ?

d
y =L aafe LA -WE STEIS.

v X

8. IfTC= %qa +6q% +12q, find AC and MC.

TC:%q3+6q2+12q aafldo AC wpmpd MC-ews
ST,

9.  How will you calculate the minimum Average

Cost? ;
gymefl Qeevellenr  B&flmy  wHiewu Grehmngj i
sam&EBleumi ?

10. Define Integration.
Qsrens mamaaflsd — cuanywim.

2
11.- Find jx3 cdx.
1

2
j x3 i dx -OWE SIS,
1 .

2 62910/BDA3B/AE23B



13.

14.

15.

State any two applications of Integration.
Qsrers mamsafissdar vwaTUTHSET crenauGuignid
@U’Gbﬂ:}.@ms sams.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

. 7 ' (5 4 )
3 6 1 7

= = and C= , verify
Let A [7 ],B_ [8 4] 1 9

that (A + B)—-C = A + (B-C).

[5 4
17 Al :
A=[3 GJ,Bz[ ] oppp C=|] | eaflo

70 8 4

(4+B)-C=A+(B-C) aan flep9ss.

0 -1 -2
Find the inverse of the matrix A=|1 -2 -3|.
3 1 1
0 -1 -2 -
A=[1 -2 -3 aarp  Si@flufer el
3 1 1

S@flenws &rems.

Explain the préperties of determinants.

Siaflés Camenauullen uermysaer eflaTé s,

3 62910/BDA3B/AE23B

16.

17.

18.

19.

21.

If y= (5x2 +7x) (3x5 - 2x‘), find L4 .

dx

y=(x2 +17x) (Bx° —2x') erafles :i DWE sraws.
x

Find all the
Z=x%+y® - 3xy.

partial  derivatives  of

Z=x3+y% - 3xy GTENIDTE u
BLEsQswaser wrayd s&TLfs. &8 e

Find the maxima and minima

" of the function
¥ =2x" - 3x% - 36x +10.

¥=2x"-3x"-36x+10 " eenp

srmQg B8
Svg BLQu@® LY srers. . ) . e

Write a note on consumer surplus.

mstGeunt 2 ufl uHdH Aoy GOy cuenys.
PARTC—(3x10=30 marks)
Answer any THREE questions.

Explain the different types of matrices.
sieflller uaGaum cumssma Aaré@s.

Solve the equation by using Cramer’s Rule
2x+3y+5z=-9
x+10y+72=-13
-5x+y+10z=14.
4 62910/BDA3B/AE23B

[P.T.0]



Quidint cawity LWL GH o waura@ard Srda.
2x +3y+52=-9

9
410y +72=-13

—~5x+y+10z =14

Find the first and second order partial derivatives

. 3q, +2q, 1
Y nne 2= — SO
of the following function 5q + 24, and also

. 2z 32
verify that—a—x-a; =i

Epssnanb ETTHES WPED, @ranLmd aflas uGH
auestur.Hé Qassmans sETLOHS),
o'z 32

Ox0y 0Oyox

swib erar Hleplasa.

Given that following Total Revenue function (R)
and Total Cost function (C) of the firm is
R=20g-¢q* and C=q*+8q+2. Determine the
level of quantities of output that maximise the
profit and also find price and maximum profit.

on Hneasder . Qurss Qemeys smiy WHmIb
amwrers eriy R =20g-q° wpmw C=q*+8q+2
aar AarhéstucQetarg erafild, Georub 2 &6 ety
SoLw  spfipauad 2 pusd Gsiw  Ceuamgus
Quigeflen  oieray  whpd  Hicmdés Ceouairgw
dlwauler oerey srams. Guogib BUQAUEH Geru
Sjeralflanand saéd[s.

5 62910/BDA3B/AE23B

24,

Yolve the equations :
40"
(a) —_— . dx
J (20x* + 2)'
3
(b) j(xz +5x +7)dx.
2

swatur_Qsmeas &iés.

s ]-( 40x°

— - dx
20x* +2)"

3
(<) I(xz +5x + 7T)dx.
2

6  62910/BDA3B/AE23B
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Time : Three hours Maximum : 76 marks
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L

N

%

PART A — (10 x 2 = 20 marks) \

Answer any TEN questions each in 30 words.

What 1s international trade?

LararTl_® surafluib eremug) Wrgl?

Specify the meaning of offer curves.
Qasr@uud Gar@s cranugan QuIBaas BSOS

State the meaning of Leontief paradox.
S GuiTeTigL) QPTRITLIML .6 QLim(HeT FamIG.

Define — Free Trade’.

'sent i cumemiluih’ — euenTwml.

What is meant by Bilateral quota?
Emps LmsaTey GTGTTED ETEmen ?
Define — ‘Tariff.

iy eufl’ — euengulml-

What is current account?

mLLIL| &enté (& Gramugl Wrg?




o)
b3

12
o0

Narrate the types of Quotas.

LiseTald auass el eNeuf,

What are the eauses of disequilibrium in the
balance of payments?
Qeauisisa gflaeauild
STTRIRISET W&l ?

FLofblenaudl e enin &5 rem

Explaiﬁ the functions and agreements of WTO.

WTO ofler  uveflsmeryn,  @UUbBSHSMEN D
Nler&Gs.

1 62921/BDASC/
AlL25C



8 Stute the Infant industey argument
Eetibuma Qanfihandiy ansdisd s,

B What is spocinl drawing rizhts?

Aoy e @ay edlann ST W

y Indicate the meaning of Teading Blucks, «
tiss supdss amugs Qunmanis w L s,

L Wkat i= Eure Zone?

IEG".’T!‘ u@él F‘d“u.;: uingy e

12, Nome the countries in BRICY,
BRICS Gue@ 3z ul piRs@cts s, -
PART B — (3 %5 = 25 marks)
Answer any FIVE quostions each in 200 words
. Ewplain the coocopt 'Community indifferonse
gum'e.,
FapEty aulatss  wamilsil o L dieme

H#msas

—

14.  Explain the Absolute Cost Advantaee Theory,
dzpos Ueviay sevenns Qantomly RS A, <
2 GYLL/BDALCY
AE25C

15, Write n note on Habeeler's npportunity cost theary,
@riutaflen Spmadiig Asasy Grniung uithifl
ey sTUpEIm,

16, What nre the ndvantages af free [rndlz".«"'
Femvahn aurantud Ll peonnssh Lamee 7

17, Brief the types of tariff,
arliy suflleE cumssaman 5@&%@5

18. What are the ohjectives of New International
Econumie Order?
v stmGes ﬁun@mﬂgn‘u' o gsralldr Gprisiiser
WD ar '

19, Wrile a note on Asian Development Bank,
A maiEd] ekl LSAl B seogs.

PART € — (3 » 10'= 30 macks)
Answer nny THREE questiona each in 500 weords.

20, What are the difforences between inter-regional
and international teade?

wemie  mbnd  udenl®  arefluiShe
GerCuurer Capunfadr wraai?

21, Critically examine the eomparative cost theory.
guilh  @zas@  Ganlumier clutregse
Ananils,
3 G2921/BDASCY
AE25C
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Defme headcount ratlo

"--gmmaﬁ]eﬁ;s aemeuuﬂasama;emm_ Gusmr,ru_lgjaws. S

o .'}_@ua@mﬁgmj
i :agaﬂasmma; @@u@@&:

Je __._E:;_rG]LDIT§§ a_mgf;m,,_@ a;;). 8 g,g%]u&}m anguasemrr Gr@@a;

S 14 Brmg out the obstacles for economlc development
e ;f:_@urr@mr@rrrj

" ',G}maﬂas@a“,rr@wrra;

' Answer any FIVE questlons each in 200 word

;:"-"What 1s an average poverty gap?

- :_f_j_‘a&grrmﬂ @JQ_IGE)LD @ml_ﬁﬂsuaﬂ c;raurmrrsu'memm?': e

@m@mg)mg,ﬁ ,r_z;amsm

';Brzef the advantages of mternatlonal trade"

o PARTB—-<5><5" 2 marks)

- sumrr&eﬂasasrr'aur M

iy 262922fBA5D/AE25D S

o _'.IIZG@J@JU®§§J$ o

3 21.7:. '_"Bneﬂy explam the 1nverted “U” hypothes1s L
: : BT R O o .ﬁ'zi:-'.}'gmwegg “U” -g;@gﬁcgg;mm aﬁ@aw;uma% mﬁ]ena;@as -
. ,'Mentmn the forelgn a1d for economlc{development RIS S oAt
: = S g "'-'Llst out the types ofpovelty
@maﬂgm.@ Co s T
RPN .--:_:._:-smgjmmuﬁlm a.lmasasmefru m.u;,u.taSl@a;

: 19 What are the types of mternanonal trade‘?

B L 'usmsrm_(bW mrrg,gasg,é\m @Janas&sm u,m‘smsu?
S :LJG'GTG{STFFL_@ wamﬂug{aﬂm ;_r;emmwa;smm &@asa%]as e}a@w; s o

S 20._ :"-':;..leplam'the economm-factors and non' economm"_- i

-;asmreﬁuﬂaamm sﬁesrra;@as

w;_mm e 55.Cr1tlcally evaluate the Blg-Push Theory

B 15 f-f’sttmgulsh betwean : balanced growth :

- unbalanced: growth
s aueried) LDD@]iD am;ﬁmmwmﬂ)

2 16 What ale the causes of mcome 1nequa11ty._ 20 - .
'__:m@eums_s G;rg)gng,g,m@eqasrrm aswmrwssm uarrsmu ?___ i

s 'PART C —.(3 >< 10 30 marks)

Answel any THREE questmns each m 500 words _ SN

- factors for economlc growth and development,

: Qurr@mn@rrg a.lem‘r&éﬂ LD}_'Dg}JLb @W@m@mﬁﬁmﬂiﬁm'._._-"_._."._
L QUEReTTST a;rrusuuﬂa;str LD[_I}QJLD G]urr@mrrgrrrjmg)m Sy

T hes 258l CSGSITLMLJITL.,.GU)LM _ Q,rl)smru_xm @&UJ@[: P

'__:',_m@u&]@as e

. f::’s.f-;._ 62922fBDA5mAE25D L




23.

24.

Summarize the causes and effects of inflation.

vew eS&sgfpanen  syen
QsmEss smps. :

b wHHID %39298%

Explain the objectives of fiscal policy.
H8& Qsnerensen Cprasnsemar eNars s,

4  63114/AE26A/AB26A
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‘Time : Three hours

Maximum : 79 marks

PART A — (10 x 2 = 20 marks)

Answer any TEN questions each in 30 words.

What do you mean by “multiplier”?

“Qupsd” updl Bellir sydleuar wing?

. Define the term Accelerator.

YH&E aarp ussSlar aumTuD.

What is money multiplies?

Lenr Qu(BES erarTLg W) ?

- Define Hm, curve.

IS—cuanar Csn(® euemruml.

Specify the meaning of general equilibrium.
Qurg swfled aatusaT QUIMST GBS

What do you mean by “money”?

“Lend” LHM Bellir Pleuar wrg?

What is money supply?
uen efliy eretugl wmg) ?



<10,

11.

12.

13.

142

15. -

~

Define fiscal policy.
PHsQsnenens cuen W)

What do you mean by monetary policy? _
vemeilwe Qsrerens upd Bellir wifleuar wng? .
Define ‘Business cycle’.

araflu sPHé uepu.

What is inflation?.

LameSES1Dd eTeTLg) wing) 2

Specify the meaning devaluation of oc.numbo%.
et AL GepUy eremuge QunmeT H(mes.

PARTB—(5x5=25 marks)
Answer any FIVE questions each in 200 words.

Explain ,arm importance of multiplier,
Qc@w%ég wéAusgausms oflansEs.

Describe the working of >oo&m~maou S&p ms.

example.

WP Hh&& uGler

QQEQEE.IS,QQ
aSleu.

ThSgGaT L c

_ Give the derivation of LM curve.

LM Gsr® eumelésuupgme GHluid@s.

2 63114/AE26A/AB26A

16.

17.

18.

- 19.

Describe the cambridge equation as given by
mesmm.

Senagen Gabi QMo wsa_,cq._.lrg_l efleul.

What are the determinants of money supply? .

L ey Smoraflser wreneu?

Bring out the features of business cycle.

aurenflu spHAler Qudysamar Qauellis Qasramis.

Explain the objectives of monetary policy.

© uenTellwéd QsmeTensulen Crréstsamer Aars@gs.

PART C — (3 x 10 = 30 marks)

. Answer any THREE questions each in 500 words.

20.

21.

22.

‘Discuss the concept ‘super multiplies’.

.58,& DE@%%: e uglosDs efleumdl.

m%?ﬁ gm General equilibrium gﬁr help of
IS-LM: curve.

IS-LM Can@aeflen 2 gefllyLenr Qurg swhloeaw
e gs.

Evaluate the Fisher’s Quantity theory of money.
solfagflar uewr siateys Camiumen wALYHS.

3 63114/AE26A/AB26A



TR
wn‘@]&ﬂmm Qﬁ]gﬁg)nga:m)‘ aﬂguﬁlmm LD[@L!LE]{E\SS

:'-Explam the factom determmmg e}astlclty of - |

:demand S RS S
S Gaenau G@sﬂ@aﬂ@mm ﬁ,rrmrrasﬂ&@m &sng@ﬁﬂasemﬁ_ A
ﬁ _G}Eﬂm&@as - e

! Analyse the Law of Dlmmishmg Mau gmal Utlhty L

O @@pheite @@JM@@
u@g;gnw&s

ASSGSS the Law of Vax 1ab1e P1 op01t1011s

_' 5_"-'_5.NOVEMBER 2022

63101/AE21A

- leysﬂ.u_g.___@ 9%“-’9-‘_7’ =

:_'Tlme Th1 ee. h0u1 s

o

Mammum 75 malks '

PART — (10 x 2 20 malks)

Answer any TEN questmns each in 30 Words

B "{Defme Economlcs

S :__ @urr@mrrg,srgm @JGNUUJQ]

.. State the meamng of Mlcro Economms

.' :@jmmﬂm Qurr@sﬂrrg;rrgm Grsmug,eur Giurr@tarr aaxggjas_. :

L What 1s demand functlon‘?

: "56;5615)@8’ a=rrrr|_| Grammm) Grmsm? o

: ._What is. meant by Law of 9upp1y° - L
: '_:;gwﬂuq @9]5\ Grsﬁrugm @uﬂ@eﬂ u_lf@?

3._.'-':Applehend the term Elastlmty of demand
‘__:'_."'ng,ﬁn')@_i @58‘5\%95@ GT61)T}I) ug,g,emgs Guemqu_lgn

L What is the fmmula to caiculate Prlce elast1c1ty of
B demand'? R S

" chana Gg,smu Q‘méﬂ%@gﬁmm &ssmraseﬁt_ a.g)m;m @g,@gm
e u_nrrgu? o

4 630VAE2IA R
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Nanatetheadvantage ; and . dlsad
"'-":_-:-:'_'dehcn ﬁnancmg b N
L Lpprsemp HiHu 'rré%é?‘ @..@@T@mw., wm@@ Bawswmar

W?qat do you mean by NITI Aayog')
. ﬁ;ﬂ ¢9|(Bu_|;fa; 5—‘.03!15] !5@9”“ c%)lﬂeuem Lurrgj

\ra__ii.i':ééq's“:._}df

= 9 What is: defzczt flnancmg‘) '.:
TR _::u,wmﬁas@mm ‘lf;]gf,lwma;m_crmugj mr@«; '

: ._"_";i"?'.f_'j.:'f:__Brlef the cu1rent umon govemment budget P
. _@Gﬂjf)]U.l q%nrjeﬂsm ;r;i_uu @quu @&m@q Q'—‘—,Jamga_"_"s o
o :3?@][5!85{@5 g)@as L SRR

' 10 .'-_f_Deflne Budget : :
Lo :_'Gul;r@.; @&Goeq g\L_L.LD @Jﬁﬁ)f}&!g}

: _"j...:_:'State the meamng of vﬂlage panchayat Sl -
f.__.'.":fa?hjrrm u@efrruagg@] Grmrrug;em @un@' mg {5@5

8. -'__What are the -'_-souxces o'f- fmanceto local o
: '___.govemment‘? T R L e e e T
- ___’{-ammm..é] é{l}éﬂﬁﬁf gﬂgﬁ @Gurmaserr umamcm? R

' i_'-_:lee any thlee functwns of mummpahﬁes

"-.';_r,asiym_,@uﬁiﬁw umﬂasaﬂeu g@g@m' @m@mm&;:'_ .

o S 198tate the types oflocal govemments R &
i _.:l._'@@l_llﬁ]@as oy : SRR ' ' PD_GUG‘ITI'I'L.,.EJC'] c@IGﬁ)LDI_IlEﬁGﬁT memaaaamm @rﬁuﬁ!@as S -:'_ L

" PART C — (3 X 10 30 malks)

Answer any THREE questlons each m 500 Words
: 20 _,Summamze the causes the for growth of pubhc L
:Gurrg;;&;a;umm _- agarﬂuugmaﬂrm S & rrgemrwasgmm Lo
ﬁﬁ_:‘f@rﬂémw BOE e

:_Buef the Redemptmn of pubhc debt i e
o '@urrgdas ass_emsﬁr ;_%rras@m @em;pa;emm a;@fma;;_r) g@e}s

i 21, 'r_.D1scuss the ob;ectwes fmance comm1ssmn S
b "":'-_Buefly explaln the centxe ' 'énd state fmancml oy 8 Qas @@@ﬂm @E’ﬁa&wﬁmm Qﬂ@m@ |
o] :-':'1elat10ns ERTR T ; R : .:. L

.Z;Explam the causes f01 defmt fmancmg o

,E_EQ 'iﬂ U_ am_ u'J ‘5@ grn_rnfﬂamm__ - R *;_sg)mm@amm ﬂ@u_lrrasasgﬁm aamjmmasemm @S]mas@as :

.&‘r@asaswrras aﬁ]a‘ra;@as

R B 63115/AE2613'_7_]-_f,'.*__




Descmbe the sources of pubhc 1evenue

Lo ':_'_ij_@ur@ EM@@J”UQGN @@)fﬁ;&i@)@fr @Siemnﬂ

g - -'_._Guiﬂ @rrrm@w ;Bg)mm gﬂnmuﬁlas@m &rrgramﬂar;m@ﬁ eﬁ\aﬂﬂ_.'-"_-: o

- Dxamme the theol ieg of tax shlftmg
..'@JrﬂLWL_.@‘Q‘)GU @asrruurr;m; cﬂgj,ljfru_las

‘__Nanate the facto;ts detelmmmg tdxable (,apamty o TR

e -_'T1me Thlee hOU.lS Mammum 7o malksf ST

PART A— (10 % 2 20 malks)

o 'Answer any TDN questmns each m ‘30 Wm ds

- 1 :_ .Deﬁne pubhc fmance

"'-"3":_3:'_‘@urrg; Ilf,]g}%\uﬁlmsu euamu.:g;j

-'::2_1".‘.-_‘"D13t1ng111sh between pubho g()ods and pnvatc,_' R

._:goods

o "_.:-_-_CS@JQ)}LJ@,-QIBS e e

3 3 'What do you mean by pubhc expendﬂbure" RE

"Defme % ‘Tax :

ﬂ - @JGE)IJ“U.JQJ

S What is mea.nt by mcome tax’?

ER ‘fm@mrrm@urﬂ mmmrra) Grramrsm?

; - :_Dlstmguish bctween dlrect tax and 111(111 ect Lax :: - o
RERT .C‘S;r;rr@per; . @JIﬂGUJU.J msm;p@aas Gurﬂuﬁ]aﬁi@;rggu .
ok 1__--3@613@11«4@;6@%85 S e



B R
P ...‘11. .‘.

e,

TR

- State the meanlng of GST L
G ::-LJGUUTL__LD LD;DQJLD @&ma_l @Jlﬂ ﬂmugm Qun@@neﬂ&' o

B@s.

i :Spemfy the meanmg of p]_ogresswe tax’?

'@umrr eﬁaﬁla’ mrﬂuﬁ?m @un@m@r@ ‘_@&s

i .Indlcate the meanmg of exc1se duty

' :'.a;eurreu enrﬂ Gremugm @un@mma: &L,,@as -

,_.What do you mean by 1mpact of taxatwn"
S @Jrﬂuﬁium §,ﬁasasm umﬁ ;_%aﬁirr a@mm u_sr@?

_ Defme - Taxable Capamty

eurﬂ g;ma;@u) ejﬂ‘m@r mmuugn

. _Spemfy the meamng of 11101dence of taxatlon S =

. .aJrﬂuH]L_eu ;f,\msnuus@ srmug;m Qun@mmg, 9@5

PART B — (o x5 25 mar ks)

Answel any FIVD questlons each n 200 wor ds i o |

Explam Lhe scope of pubhc fmanco o

o _-@un@ ﬁgﬂuﬁ‘im urjumu aﬁleﬁa@as :

14,
T '@m@m Q&m@ﬁ]m Gumasa;m u.nfmen? o

e 63112/AE2 B__;; e

What a1e the clasmﬁcatmn of pubhc expendltule

o _Expiam the Adam Smlth’s canons of taxatmn :
Y ‘._‘%I_Lam)tﬁlg,ﬁm mﬂ@&]gﬁuq ‘g}g,gﬂmrajassmm aﬁ]m&;@a; B

16 . Wmtc, a sholt note on GST

U uegT w,m@ma G&m@s @;rﬂ umgﬂ é]g;] @pﬂuq G{@@Jéﬁ. Y

7.

:..LISt out the ments of dlrcct taxes ‘ -_ '
' - @g;n@&@uuﬂuﬁm ggeursmwa;emm mrﬂm&uu@ggjﬁ L

_Nau ate the types of ’I‘axable Capac1ty

BERPNT | ganrm@jm ggaﬁm armssamen @@u&fﬂ@a&

19,
- :  X m@asa;u)ﬁasa; aimgues
o Answer any THREE questmns each i m oOO wor ds L
L -20.:.- .

S 285 &@g,rru_J (r_r,smmwas CSGEITi_LJITQ gg@mgmg,:

efesnd. L

o

,_'-_Br1ef the factms mﬂuencmg sh1ft1ng of a tax

auil ryi.m@\gemm Q;[GWL.BSB&I:*_UJ_ . asm;rmﬂassmm-_ '

PART C — (3 X 10 80 marks)

-DlSCLlSS th_e_ pr1nc1p1e o_f mammu_m_; soc_:lal"_':-'
_'_._advgntage“ _' LT , i .

I:prlam the causes for the gxowth of pubhc

'expend1tu1e in Ind1a

@méﬂweﬁ?m |

. a;rrqmrmarsmm aﬁ]m&@& -

Qur@&

8 63112AE25B
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22 : 'Analyse the achaevemente of I‘we year. plans R

- Explain -ﬁhe.theery-or_' (__Jlexnograp_}_lic transition. .
'-05355@?@5“@55 GWTT e, [fﬂﬁlﬁ@es : '--._'G_aﬁrrL;u_rrL'm'Lemm. _

S ggbg,rram@ é;]nnmaaeﬂm errgemenessnm %u,zes

24 j_Diecuss the varreus : employment_ generatlen;_.;_ :
. programmes | m Indla ERDRE IO

: @pAureda G @eseenerruugn LIG\)CEGUQ}HI B

Examine the 1mpaet ef G1 een Revolutlen m Incha o
e -@gﬁﬁ]mmﬂw umenl.o qgné)uﬁ]m g,nesesg;eng, cggpu_#as e

o Gmmm@muuq 2. BaNsss ﬁl_l_rmase»m eﬁ]meg‘;]

a4 62901[BILA1AU

NOVEMBER 2022

62901/BDA1A/*}?’= i

E " Time Three hours R,

Max1mum 70 marke

PART A — (10 x 2= 20 marks)

. B Answer any TEN questlons each in 30 woxds o

B _‘_'-Defme Bconomlc Development

- -'Qun@ms@wu @m(ﬁm@mm = @meses@nm g,@e;

 Write any “two factore hmdermg -economie

.develop ment.

B r@urr@errrrg,rrq @m@mmmgmg, urrg\a;@w asrrrjemﬂe;eﬂmﬁ G "
- .'Lq@g,@;m @Umu}hmm Gr@gl& L Sl

_'lee a note on conventlonal energy

: ..:'_'."LDU‘—lH:[m %LD;DGD UD{JS] @,@'—“—1 1‘5@&3 i

_-'.'State any two beneﬁts of foreet resou1 cee .

‘16 eueniisaflen’ _uuen&eﬂ@) ' q@g@;m'.'-"

' ,.@;;.smqmmas @g‘)]ul_fﬂ@es -
.What is meant by ‘Demog1 aphlc Change

L Leessserﬂu_‘ﬂu_iw mng;;_nm e‘remmrreu erenen?

| erte a note on Plannmg Commleelon of Indra

L @su Arisew uph iy auss.
AezaAgr' T R T

AE23A';' .






23.

24.

RS

Analyse the features of Indian money market.
@pdw ue sposar @mmqsmm IS,
Examine the role of monetary policy in developing
countries. .
e prRsafar  ueTeiu® Qararansudet
Cpréshsmar Luis.

s SR

4 63116/AE26C
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Time : Three hours Maximum : 75 marks

=~

PART A — (10 x 2 =20 marks)

Answer any TEN questions each in 30 words.
Define — ‘Money’. V

‘UenTd’ — ueIUD.

What is meant by Medium of exchanges?
uflorhy e @ &@med aaprd eretar?
What is Bi-metalism?

B® 2 Cars pramuib erétLg) wing ?

State the motives of Liquidity preference.
e, mun Crrésmsmas sams.
What is meant by supply of money?

uenr Sefliuy erenpred eremen?

Define ‘Money multiplier’.

‘e QuEES’ - cerpwy.

What is meant by Commercial banks?

aafls wndlser eerpre erenen?



Specify the meaning of Demonetisation,
L AUy aarugar QUIMET HOHs.
Define ‘Capital market’.
‘oser spaos’ — U W .

10. What is Foreign exchange market?

<ipHw Qevreuai Sheng TETUH WITH) ?

11. Define ‘Monetary Policy’.

‘venaflue speng — G;\JmUuJQ].

What is Repo rate?

QruGur aNf s GTEHTLIZ WImg) ?

PART B — (5 x 5 =25 marks)

Answer any FIVE questions each in 200 words.

13. Brief the evolution of money.
vensder uflawmo cuaniéflew &mss B(MHS.
14. Explain the primary functions of money.
uengdlen gt uailamarn allarsEs.
15.

Narrate the determinants of money supply.
uent gafliiy Srwvraflsemer efeufl.

2 63116/AE26C

16.

17.

18.

19.

20.
21.

22.

Explain  the process of

credit creation by
commercial banks.

aarfls  eumflsafien ST 2 (mounss Yepenw
cflené g6

Distinguish between Primary ang secondary
markets.

gpsemem  wHmIb  @TETLmb Baw  spmssmar
Capupsgs. :

Narrate the objectives of Monetary policy.
uemelluc Qemearensuden Crrss s ener Seuf.

Explain the Transmission

Process of monetary
policy.
- uameluilwe Qematensulen uRlompn  wepew
cNlers&es. : :

PART C — (3 x 10 =30 markg)

Answer any THREE questions each, i 500 words.

Explain the types of monetary standards,
vamellwd pramuepepseiien aensseaer G\S\Gﬂé&@&i.‘
Discuss the Fisher’'s quantity theory of méney.
SGagMen Lamr @ieteys Camum gy efleurd.

Narrate the functions of Commercial banks.

auafls audlWen uafsmar elauf),

3 63116/AE26C



21.

o
o

ts
]

5. . . 6
Analvse the Contribution of Adam  Smith
cconomics.

i ks A AU XIS,
Qurmpelugds Qbenfid uRsaiu@u o

Examine the Marxian analysis of Capitalism.
wsordiggan upfu witdflu PULON SO
Explain the contribution of J.M.Keynes to macro
economics.

S N : Anieu
Cufiwed Qurmsiugds J M. &arellar uriseflo®
Segss.
Discuss the Economic ideas of M.K.Gandhi

MK empdun Qur@emsty sGSEISS08T Aaurd.

4 ~ 63103/AE31A

NOVEMBER 2022 63103/AE31A

Time : Three hours Maximum : 75 marks

1o

=~

PART A — (10 x 2 =20 marks)
Answer any TEN questions each in 30 words.
What is meant by Mercantilism?
asfls argh aaprd aarar?

Specify the meaning of Natural order.
Qupesear axficms aausar Qungst sGs-

Mention any two economists of classical
economics?

Qaréreow  Qumpsiue ofigisalar Qoart

Quuenrs gALC@s.

State the Canons of taxation as given by Adam
Smith. ‘

L1 lsesr afld@oy ssaatisoas amps.

‘What is rent, according to Ricards?

fssriGLrellar mpmiug ampb adug wrs?
What is market glut?

speg Cprésb aetug wrg?

Define ‘Veblen goods’

Qanios uam_tisar - cemum



10.

11.

13.

14.

What is utility?

vweur® aeTug wng ?
Define ‘Elasticity of demand’
‘Csoa Qplps’ cwernuy
What is under employment equilibrium?

copCame daw sufeoa aamug WIg?

State Pareto’s Unanimity rule.

ufr CLreller @uew ddeows &ans.

What is drain theory?

agsred Garun® ererug wWTg?

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

Account the reasons for the rise of Mercantilism.
aafllsaurssdler auaniédléE 2geilu sTreRsmens
5@5.

Specify the features of classical political Economy.
Qsrenenwd Sirdlwe QummentsrysHer Quidsmars
5(H5. =

2 63103/AE31A

15.  Brief the Malthusian theory of population
. wrdgallerr wosdr GETPss Car umep FQIAIsS
H(HS.
16. Explain the economic ideas of institutional school.
Apeuer verell@arflen  Qunearngmy Apsaansanar

efeTds&s.

17. What are the main features of New classical
school? )
peier Ggmeento varaflulerfer ®s8u  Quidyser
wreneu ?

18. Brief the critical and positive ideas of ﬁistorical

School. )
augorpy vdafleat udBlu efoiser wHmb Ay
HMHSEIGEH®ET FMBISES S(HS.

19. Explain the economic ideas of Dadabhai Naoroji.

srerumy  peuGrrR-er  Qurmerrgmy HHSEIEE@ET
eNaTé 5.

PART C — (8 x 10 = 30 marks)
Answer any THREE questions each in 500 words.

20. Explain the Economic ideas of physiocracy.

Puphamsans vareflufer e Qummeng s
shsgIGaman afleufl.

3 63103/AE31A



a9

-

Brief the interaction of demand and supply of
Health Care.

sLd poar saefiufar Gsee
Smmélearuau HMHRISS SHS.

whHmd ety

Summarize the various Health indicators.
vaCap eLdpaar gilufsmar QsmEss SOHS

Explain the importance and types of Health
insurance. -
eLd poda  smoSiger  silusgesmsUD
uess@eTYL eSlaiéEs.

4 62907/BDB2A/AE32A

APRIL 2023 62907/ BDB2A/AE32A

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer any TEN questions each in 30 words

1. Define ‘Health Economics’.

‘2 L eopevern Qummailued’ — @é}rju_zg].

2. What is meant by Human investment?
' walls WseSH eTeTDTEd Grea?

3. Specify the meaning of Social Welfare.

FPS Hever eTaTUSET QUTHET H(ms.
4. What do you mean by Demand for health?
2 Lo pogusatar Comen L Bellir sifleuar wngy?

5. What is Budget constraint? = .
UL QgL cumywem eraTug wg ?

6.  Define ‘Income Effect’.
‘umeumis eflenaray’ — euanwim).

7. What is meant by Elasticity of demand for health
care?

2L poear swalliy GCsme Qpdpsd e
GTEHTGT ?



10.

11.

13.

14.

Indicate the meaning of Health Care providers.
o L QBT CGsaorau ~ siefluueuirser GTGITLISGHT
Qurmeas GOABS.
Define ‘ Health indicators”.
‘e L dpoar GHUEsET — uaFwDl.
What is Mortality rate?
@puy &5 ereTug WG ?
What is meant by Medical ethics?
wmssieu Hlwdl aearpred crever?
Define ‘Medical tourism’.
‘DHSSI EHOIOT — GUENTWID.
PART B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

Brief the Income and Health linkage.

QUHEUTLGE@GD. . 2 Lopoa@s@Gder  Qsmiemu
&(HMSS S(HS. -

Narrate the determinants of Health.

2 L6 paver Siwrefsmer efleurl.

2 62907/BDB2A/AE32A

15. Explain the degrees of Medical elasticity of
demand.

wmsseu  Csmau Qpépssrar  SaTMUSEET
NaTé 55.

16. Write a note on Health care providers.

o Udpe Gsmeu oieflucuisdr upd GHUY TRSIS.
17. Explain the concepts DALY and QALY.

DALY Loﬂ)g;jub QAI‘JY ug oIsemeT N6 &,

18. Analyse the need for medical ethics.
wmssuBuudcr Camaimu opuis.

19. Specify the problems in Health Insurance.
2 Ldpaen sTULIgd 2 drar Hesdamad H(mHs.
PART C — (3 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

20. Discuss the importance of health for economic
development.
Qunmermsry  aGarppsded  2Ld  poallar
wé&Hwusgusms leurd.

21. Explain the preference for Health cure using
indifference curves.
s1CpT&EE uamaGsr@amar LUELEEE, 2Ld poer
sauafluer eprusms chlarsEs.

3  62907/BDB2A/AE32A



M.w. . h role
Discuss the of International

; Tourism
organizations in Tour;g, growth.

SHmeor aueniédlulev

" &J@;w_@,% SODIOT <™Nevip, ), TERL
undoar aleund.

1 6b
4. Analyse the Tourism Dg,..

lopment during e
Periods. A

plan

S e &:Dvm\,mum.c &LDOTRS gy @b&?w.ﬁ._&_%ﬁ:ﬁ@ DU &,

4 62912/BDB3B/AE33B

NOVEMBER 2022

6291 Naﬂmw@??mwww

Time -

: 75 mar)
- imum - 48
: Three hours Max

ks)
PART A — (10 x g = 20 mar

. 30 words,
Answer any TEN questigns each 11

Define — “Tourism’.

EHMIOT— Guanwim.

What is Domestic tourism?

2RI sOmIOT eTemug wmsl?

Specify the nature of Tourism system:
sHmr erpulen sarmuvawd SHS-

. ?
What do you mean by Tourism impact!

sHporelear Frésn aaug LHO Bt siflouen
E:.@Q

What is social impact assessment?
sps H1686 LHUSH eranug W ?
What is meant by Tourism multiplier effects?

sHpor QuBHEHWI cNaaTayseT TN GTENEmN?

Define Balance of Payments.

‘QarHuud swhea’— uedTWIm.



1
L

10.

11.

12,

13.

14.

15.

Ndicate the importance of Foreign exchange.

Siehreflw CleaTeua) Q4

SO, CPEAISHIG b ang,s

grmw 1s meant by Tourjg, Organisations?
FODQOT ADWUIYSE Temrey e ?

Write a note on IRCTC,

IRCTC up® &OUY T(Wgs.

State the functions of TTDC.

TTDC a1 uerflsaneard Sams.

Write a note on Ministry of Railways.
Qrleta si@wsssd upll Aoy oTpsys.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions each in 200 words.

Explain the Features of Domestic tourism.
2 aTpTL () sHHOTEET QUi smers sams.

Brief the importance of International 8.5.55.
uererT{ spperadiler  (psdusgiusams  smEesH
> ((h- _

Give an account of Environment Impact.

Assessment of Tourism.

%BB@:%% @E@%%&:&&S%E&@CB%@
&IILLS 50s. :

2 62912/BDB3B/AE33B

16.

17.

18.

19.

20.

21.

22.

e Creation of

Explain the Employment and Incom
Tourism. B
L w
sHmeneler  Gaumeeumy iy wDHHIP
2 (haunéssens 69166 Es.

WTO i
Narrate the objectives gnd role of UN n

Tourism. .
o & Shmen

shmorele  BEHU  prosefien s S,

Sl Crrésmsmany b, Ukis@ean

) . . : 1010.
Write a note on Tourism and privatisat

sHpOrayb seflwurmowwn upd GSHUY TS &.

Write a note on Globalisation of Tourism industry.

sHmer Qgmfleiid PSQSEB b @DUY T(9gs.
PART C — (3 x 10 = 30 marks)

Answer any THREE questions, each in 500 words.

Discuss the types of tourism.

sHmereder euamssmen eeurd.

What are the evils of Tourism?

somreler Fowadr wremel ?

Explain the economic significance of tourism.
&Hmieomal e QumrmeTmg miy WPeEwsgeusds
eNaré 5 s.

3 62912/BDB3B/AE33B
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A LT gL FREEE LA

AT Ll Ot L,

fWhat are ' the f
eatures of Ro
Mah alwan systemg? yotwari and

Twgeumf, LhHm)

h)
WTenau 7 wesdanfl pepdar Qudbyser

23. Explain the Five phases of Railway development,

%{ET:;E Urengs  aueriéfllien  misy  Heesenar

217, Analyse the phases of induatrialiaﬂltion.
Qzmfldwvwsder Hawsmer wyiis.

4 . 62917/BDB4B/
AE34B

62917/BDB4B/
AE34B

APRIL 2023

Time : Three hours Maximum : 75 marks

PART A—(10x2=20 marks) |
Answer any TEN questions each in 30 words. X e

/ﬁ What is meant by Colonial India?
- sneeflurdss @bHWT aeaprd ererar?

/27 Specify the meaning of Agrarian Structure.
 Cauarmar el eTeTLgen AUTGHET Sms.

/{7 State the features of Royotwari System. _ - ", ot
qugeuntl aperpuler QudLsmers sapis. :

4. What do you mean by mmmermahsa
: agriculture?

wing; 2

,M Indicate the causes for Ruralmﬁebtg B
| oas SLe GedDEETET S ERTTal Eﬂiﬂ" 2Lt

/6/7 Write a note on Cual mines.

;ﬂm&;&tﬂ G BIGRISET um]ﬁl @ﬁluq aT(U 5.—:«—-*"
.‘ )'n.ql



LA A

State the features of Railways?
BBUY urersuer Qudysmeard enpis.

Qamléwid ererpmed ereier ?

,3./’ What is meant by industrialisation?

Define ‘Banking’.
‘cum&lulwd’ - euerwip)

What is Mixed economy?
soliy QuUmBrETTSITID eramug Wg) ?

)(I./’ What do you mean by Planning Commission?
AL &@p updl Hellir sypleier wrg?

.1/ Specify the meaning of socialistic vision. 5

Cemsells unieneu eranuge GUNIBET S(HS.
PART B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

vl‘,,.% Account the reasons for Drain of Wealth.
. Qsdey QlgESTISESTET STTRTRISMTS S(HS-

14. What are the effects of Commercialisation of

agriculture?
Cauarrekr  auaflswwwrssliulLger  efleenajser
wireney ? i

2 62917/BDB4B/

AE34B

S i B i T i e e e L

)67 Explain the state of peasants under Colonialism.

ameenflunglsass

afleusmulsefler
TS @GS, /

Blevaveni

, @ Highlight the 'significance of Tea Plantations

during Colonial India.

sroafilurdés @idwuneid Csullae GzmiL msaflsr
wpsfupgeusas Qeueliuubsgs.

@ Explain the significance of industrialisation.
- Camfla@wwsser wadlusgeausms llaéEs.

18. What are the features of industrial labour?
Qzmfléd o epuller @uaLser wremal?

}Q— Explain the need for agrarian reforms.
Ceuammangienp Erdmss58ean Comaimu dlarkes.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions, each in 500 words

20. Discuss the features of colonial India.
sroaflurfss @bdureer Gudusmer cflqums).

b= xplain the three stages of colonialism.
7 sneeflurdéssiian apap Hleosmer CARIEICER

3 62917/BDB4B/




19 jL1st out the ob;ectlves commumty development‘_ .'
e S it NOVEMBER 2022

L programme

B _A_.&(SD}E[)ITU..I IS @m@mmm(@,” _ ﬁL.L.g;_ﬁaﬂ @(L‘nrr&sasggmg, B

L '-_-uLt:;.u.mﬂ@as
O PART C - (_"">< 10 = 30 'marks)

Answer any THREE questmns each in 500 w01 ds L

20 5 ::'Dlscuss the lmportance Of agr1cu1tura1 economlcs
e .".::;fﬁ;@a_lmmsm @uﬁ(’f)@fﬂ : .G&m (505@&“5@]@‘%@@ aﬂsurraﬂ

s j'_frdgementatlon of 1and holdmgs SR

' “Hle 2 enwudies - gnmmuw&@gm ’.._J_L_t_‘ﬂrﬂ@.l :%BS@QGDIIZ,'._' |

. '_ -a;rmmrgaemg Gi‘ﬁeur'ﬂ

- 22 Explam the causes for rural in. debtedness

o f@mgra; BBI_GGT a'rsmmasaarrem asnummasmm sﬁ]emas@a; i

S 23 --.Examme the defects of agncuitural maxketmg in _. - L e 5 ; "‘,_'Deﬁne ‘Agrlcultural product1v1ty

: -_'Incha

o4 '.__'Evaluate the MGNREP in TamﬂNadu Pl

o -::,gylﬂlépcrbrruqam m&srrg;mrr esrr(r_r,ﬁ amr;ras (Smsmsuasrrmuq_‘-

' ..._::Q‘)]L_Lg,mg, mﬁuﬁ@ G]Eu_las

-':.':_.:.:".';Tlme Three hours

._Z'@‘nf,ﬁxumﬂm (Beumrrmn g;r,mg,uﬁh_s&m @mg}urr@asmm:__ﬁ S

6 .:_‘Expand
.:-_‘,%r;rrma; e

PART A — (10 %, 2 20 marks)

e _r._--_-_i_Answer any TEN qu(,stlons each 1n 30 Words R
E T ,~__-l..:_What do you mean by Agncultural Economlcs‘? : e
i -:.:-'.'-_"(BG”W’TW Q‘—*W@Gfﬂu.im u,fz)ﬂ‘ﬂ {Eaﬂﬁ cai;ﬁ]mem u_m@l?

R A S = . 9 Defme the terxﬁ ‘Crop Rotatmn
o2l _Descrlbe the “causes for sub d1v1smn ',an_d_ - S

o :._Llll.(ﬂﬂ' &%Q;Déﬂ Gr@);m ug;g;;ﬁsmm @JG@IIU.JQJ

_ I_ 3. "State the meanmg of Muced farmmg

L N asauuL-l umﬁmmﬁ (aﬁlamrru_lgpélem) G\un@m gﬁ@{ﬁ

S 4 _"_:__._'fSpecxfy the meanmg of fragmentatxon of ho}dlng

B -;f,]snm gjsmm_ﬁm.,.a) mﬁmug,aﬂ Qurr@@m@f@ @@“5

e :'_i‘@G)JGITITGIﬂﬂ' &g_oug,@ ﬁmm mmgmg&a&

@) NABARD

S ':'(b) RRB

Max1mum 75 marks@_zj : -



. What do you mean by 1ural in debtedness'? N 5 o

- :._._aﬂgfrwuq,r;) &L_al umrrﬁl ﬁoﬂrra@mmtun@j? :

:Defme o ‘Agrlcultural Marketmg

L -:ﬁ"(‘émmmur a‘r_r,emg,uﬁ]l_eo ajem;}mg_)z

10,

oL

g What do you mean by Co ope1 atlve ma1 ketmg? o

' '-_sm.@\g)eq s{mmguﬁ]aw um@ rf}o?ﬂrr é{@e‘u@g u_;rrgj?

'-Spemfy the meamng of ‘I‘ood securrty

o gmeq urrgga;rruq Grasrug,an @urr@anmg g_r;@as 5

: i‘Expand SRR

@ MGNREP
e ). SGSY

| aﬂrﬂmrrasasl,o g@as

(=) MGNREP

(@) sGSY.

What do you mean by. ‘Self Help Group

' & &g,aﬂl @@ umg‘ﬂ ;Eoﬁkf .:s{ﬁeusm u.mgj? o '

B TR 63113/AE45A

-_11_3.

PART B - (5 % 5 25 marks)

Answer any FIVE questmns each in 20() words

.Explam the relatmnehap between agrlculturaln ‘
"sector and non agrlcultural sector, * '

'::Ga.lmrr@m gjae,r_r) LHod (Bajmfrﬁw EW[II’I’Q[GD;DEE@SS@- '
",@m;_CEu_;u_lrmT@g,rrz_rrqaseoaTaﬁlmas@as ' ’

'Wnte a note on major food crops in Indra S

: @pﬁu_:rreﬁ]m (I;[)&SBC:]UJ aammu uuﬂmeﬁ umgﬂ fﬂgn @[ﬁluq S

Gr@gjss '

15,

Briefly explam the causes for 1ow agmcultural o

L productlwty

16,
e agrlcultural development

L GearaiT. @m@@@@gﬁm@ &LL@[DGL] Guraa%]asoﬂm R

o ~-(361;6rrrr60m' a_mugﬁ .s‘,]g)em @Gommesssrrm e;m;rsﬁurg,mg; _
S &}@'masaﬂmss@a IENINES L

Descmbe the role of cooperatrve b'arik's" m

RESREE urma%]meﬂaﬁlmfﬂ

18.

Wr1te a short note on money tenders

o @mmn@,@ eﬂaarrurmasm umfﬁ‘ fﬂ@:d @@W ”&9@15 .

Anaiyse the advantages of cooperatwe marketmg :

e“nL_® me s‘r_smgyuﬂ] LGIS]GOT pemmmasanar crgbr;rrmas

8 63113/AE45A f 5



&rﬂa:mevr ummﬂmm G‘zﬂG}Jﬁ‘dﬂ‘&}Q é{mmﬂm Gwamemamm_‘:"f} SRR S s
: '_uu_lsmssmrras @pﬁ]uﬂ@&s o R

. ‘:.'.Zf__Tlme Three hours

: _;5\1,_1_ @mﬁuuﬁl ) e;},u_ua; @mmamm @rmasgg g@as e

?_Spemiy the meanmg of Break eve
R _&rﬂa—m u@uurru_sm:srmugm @un@msﬂg,}g@a;

--'TDefme tlme series analysis. _
RE ”asrra} @gm_.rr @Jrﬂrsm& u@uunmm mem;au@;

 G3LIS/AB46B




o ";fState the meamng of margmal cost p1 mmg

._-;:-;. _-j:@ggﬁ] ﬁGﬁ)G\)& Q&G\)@; aﬁ]mmufﬂ@g,m Wmugm_zﬂg;_. :
_:Qurr@emma; g—,@]g; L L E

o .:Defme Dec181on makmg

« (y)qm Gmm@esrrma) Gumuu_igu

i 10 '_"Spec-:lfy the meamng of oapltal budgetmg

et
oL

ST

13 '..:;"Explam the vauous tool' ,'-Of; managerml de<:1szon-'j"" ___"3:: ':' L

g'makmg ; Ll SIS
AN "Gweu%mamm (l,ou}eu (Emm@a;mrr@g,a%ﬁ;_ ue'i)@_o_jg)]_* ah.
%@fﬁmm Qﬂmeﬁs R

Capager airay .

'Defme pro;ect plofxtablhty

A @eorruuﬂl_e) susmvu_igu

R ' What do you mean by mu1t1 product prlcmg‘P IR
[ ;um Qurr@sﬁ eﬁ]mmuﬁ?@gm umg‘ﬁ ﬁeﬁ]rr @@lsusm Lurrgg? :

PART B — (5 X 5 25 marks)

Answel any FIVE questlons each 111 200 WOr ds

--'-Bung out the types of demand

;_ Ggssmo.l eusmsasmm Q@Gﬂm@ewmm

2. G3IIBAE46B

L HAES, o Lofz)g.lim : Q‘—'”(@G‘ﬂ”".-._aj,...

15 -;'Illustiate the short run and Iong run_demand :_'

eurve;

L :::@@BC:]EJ Bia, mmguun rf;mn,, essm) Ggmwa; GGSQL.,L%GTS)GM.__:_.'_
) '-.'_.'-_e.(@rrgemg,gjusﬁr oﬁ]meﬁ@eﬁ B AT A . '

18] Llst out the assumptwn of Breakeven analysm

' _erﬂ&m u@juurru_loﬁlm G?@CS&SQ‘G!S)GTT ul..mueﬁl@aa

17 D1st1ngulsh between Accountmg and Economxc.__;--:_ﬁ

Ll costs

| ”-‘_'@m@iu@e@a; St or

18 ._'lefexentlate between_ skimming-_._plfi_ce___ and

L penetratmn prace o LA R > SRR
el wpmd :.e@uﬁ’@e@.ée@ - eflevaanuy

"@GUQJUGM@& L
i 19 Indlcate the need f01 cap1ta1 budgetmg

w)e\)gmﬁ o,n;a; @m)m g‘;]l_l_ggﬁecrr - e-g{ma‘f}u_ig,mgyl'_ﬁ_-_" SRR
@@uﬁﬂ@& e TR e

_ PART C —-(3 x 10 30 maxks) ,
Answe1 any THREE questmns each in’ 500 w01 ds

: '_2_(_). - Dlscuss the scope of managemal economms

- _G}S}Gurrreﬁ ' .

o 21 “Descr 1be the methods of demand forecastmg

b '(Sg,smu @mrra;smﬂuq (gooorrpassmm oﬁ!o_urﬂ

Bt 63118/AE46B'_ S



: -:2_'2_,_': "..;Analyse the varmus methods of poliutmn contxolf'i:f.'-' ; g ;: ;
s *'.ﬁc@ﬁ;@mm&]m e um@@ugn LQIT&} 83L.®LJLJIT|_® e CEER R

. /in India.

: . @sm;ga;mmu u@g;g,rru_sa; '_

S 23 _'_“Pollutmn as an economic problem D1scuss G

e LDfT&"rU[T@ @@ Qiurr@mrrgrrg eﬂasssa) —-aﬂajrrg_ﬁ]
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Time : Three hours Maximum : 75 marks

PART A — (6 x 5 = 25 marks)

Answer any FIVE questions, each in 100 words.

/" Write about the importance of environmental

-

studies.
shmIFEelweler wpadusgieusms upbl eT(gs

-\/ﬂ Write about the significance of ecosystem.
- spmEGalan psdlusgicusms uPH eTRSIS

3. Write an essay on value of biodiversity.
e guiMuwelen gl uHdl p sLBen] eT(pSIs.

-/ Nuclear hazards — Explain.
DN F&S DIUTURIGET UDD eSleTsEs.

% Environmental protection act — Discuss.
GHMIESP® urgsriy sl upp efleurd.

/6’./ Explain the relationship between environment

and health.
GOMIFGHPOD WLOHMIL  &HeErsTrsHparar  QsmiT9enesr
ummdl eSlers s, N,



'COR,

T Discuss the over exploitation of natural resour
Qupes aems@e @dswons sp@rea@gts ubhd
Sand.

|, AIDS - Explain.
cwieh uplh) Nendss.

PART B — (5 x 10 = 50 marks)

Answer ALL questions each in 500 words.

\ /Ea) Discuss the wvarious abiotic factors that

influence the vegetation.
sraur aetréédlle e ulflders gmiyenfsafler
sn&s uphd eNeurd.
Or .
Mescribe the components of a forest

ecosystem.

waE  GRd warLesdar uGHsmer upd |

efNeul.

MWnte about the land resources.’

Blev cueriuseeTs UHH eT(HSISG.
] Or
(b) Discuss the biodiversity and its conservation.
uedQUIT O BB LrgIsTiy uHd eSeurd.
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Py

I () 3 Explnin the types and effects of air pollution.

arbm OO ITI g &kt GBI whpin
shlencnamenst LpEl eflarsms.

Or

(b)  Discuss wild life regulation acts of India.

uarchleti® @WhEG plsugbamassamer  UbE
aeund).

/12/ ()~ Explain — Disaster management.
CuflLir Guoraremw uph s ss.
Or
(b) Discuss — CBD.
Gy ubhd ehleurd).

B/('g}/ Describe the environmental policies.
FHDIFEGPD Qardrassear upb ohlaur.

Or
(b)  Explain the solid:waste management.
HLssfla) Guardramn ubf chlend; g6
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